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PiecewiseFunction for No.9124

+1 ;o x<=1 el o xed

NoOI:[x oY } No02=|-2x-2 : -1 <x<1
2x+5 ; x> 1

-4 ; x>=1

NoO3=[a=-4,b=-3,c=-1,d=2,e=3]
NoO4=[a=-4,b=-3,c=-2,d=1,e=3]
NoOS=[a=-11,=-8,y=-7,8=-5,e=1]
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PiecewiseFunction for No.9197

o a < 3 2x-5 x<=-]
N001=[ o o } No02=| 2-x + -1 <x<=1
x—4 ;ox> -3
1 K x> 1
NoO3=[a=-3,b=0,c=1,d=2,e=4]
NoO4=[a=-4,b=-3,c=-2,d=-1,e=3]
NoO5=[o=-10,B=-7,y=-4,8=2,5=3]
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PiecewiseFunction for No.9252

3 . < 3 2x-2 x <=-3
N001=[ A } No02=| -8 ; -3 <x<=2
2x+3 ; x>= -3
5-x x> 2
NoO3=[a=-4,b=-3,c=-2,d=-1,e=1]
NoO4=[a=-4,b=-2,c=-1,d=2,e=3]
NoO5=[o=-11,p=-6,y=5,8=8,£=9]
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PiecewiseFunction for No.9312

Yyl - < x—2 K x <=-]
NoO]:[ ¥ o } No02=|-2x+3 : -1 <x< 1
S-x ; x> -1
1 K x> 1
NoO3=[a=-2,b=-1,c=0,d=3,e=4]
NoO4=[a=-4,b=-1,c=0,d=3,e=4]
NoOS=[a=-3,B=1,y=7,0=9,e=12]
8
6 /
&
Pany N 4
2
10 -8 5 -4 -2 0 2 4 ¢ 8

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXXXKKKXXXXKXKXXXKKKXKXXKK




):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXXXXXM6/1-6500501-00005XX
PiecewiseFunction for No.9397

2x43 ;o x<1I 7o xe=2
NoO]:[ . o } _No02=| x-5 ; 2<x<3

x+2 ;x> 1
2x-2 x> 3

NoO3=[a=-2,b=1,c=2,d=3,e=4]
NoO4=[a=-4,b=-1,c=1,d=3,e=4]
NoO5S=[a=-7,3=-5,y=-4,0=T,e=11]
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PiecewiseFunction for No.9449

43 =3 1 K x< -2
N001=[ . oY }  No02=| x+3 ; -2<=x<1

x—1 ;s x> 3
-2x-5 ; x>=1

NoO3=[a=-3,b=-2,c=-1,d=1,e=4]
NoO4=[a=-4,b=-1,c=1,d=2,e=3]
NoOS=[a=-9,B=-4,y=-3,0=7,e=8]
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PiecewiseFunction for No.9562

Y yad < 0 K x< -1
No()]:[ . o } No02=|-2x-2 ; -1 <x<=1
5-x ; x> 2
x+2 K x> 1

NoO3=[a=-4,b=-2,c=1,d=2,e=3]
NoO4=[a=-2,b=-1,¢=0,d=1,e=3]
NoO5S=[a=-12,=-3,y=5,0="7,e=12]
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PiecewiseFunction for No.9721

Y y43 - x< o -34+x x<=-2
NoOIz[x o } _No02=| -5 ; 2<x<=3
—x-3 ; x> -1
2x-1 x> 3

NoO3=[a=-3,b=-2,c=1,d=2,e=3]
NoO4=[a=-3,b=-1,c=0,d=2,e=4]
NoO5=[a=-7,3=-3,y=3,0=8,e=9]
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PiecewiseFunction for No.9789

o3 <3 2x—-4 x< -3
NoOIz[x oY } No02=| 2+ -3<x<=1
2x—-2 ; x> 3
—1-x x> 1

NoO3=[a=-3,b=-1,c=0,d=1,e=2]
NoO4=[a=-4,b=-3,c=1,d=2,e=4]
NoOS=[a=-8,B=-2,y=1,0=8,e=10]
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PiecewiseFunction for No.9795

5_ . < ] _2x—4 S x < —3

N001=[ o } _No02=| 7 S 3<x< 3
2x+2 ; x>=1

x+4 x> 3

NoO3=[a=-4,b=-3,c=-2,d=-1,e=3]
NoO4=[a=-4,b=-2,c=-1,d=2,e=3]
NoOS=[a=-9,B=-4,y=1,0=5,e=T7]
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PiecewiseFunction for No.9839

2x42 ; ox< -2 w-2 ; x<=-
N001=[ x o } No02=|2x+1 ; -1 <x<=1
+4 ;x> -2
3 K x> 1

NoO3=[a=-4,b=-3,c=-2,d=-1,e=2]
NoO4=[a=-4,b=-1,c=1,d=2,e=3]
NoO5=[o=-8,p=-6,y=-5,8=8,e=11]
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PiecewiseFunction for No.9843

2x-1 ; x<-3 2o e
NoO]:[ . S } No02=|-4—x ; -2 <x<=2
x+1 ; x>= -3
2x-5 x> 2

NoO3=[a=-3,b=-2,c=-1,d=2,e=4]
NoO4=[a=-4,b=-1,c=0,d=3,e=4]
NoOS=[a=-7,p=-4,y=-2,0=2,e=T7]
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PiecewiseFunction for No.9854

2x42 ; x<3 —-x s x< 2
No()]:[ . o } No02=| 9 . 2<=x<3
x+4 ; x> 3
2x+3 x>=3

NoO3=[a=-3,b=-2,c=-1,d=3,e=4]
NoO4=[a=-3,b=-2,¢c=0,d=2,e=3]
NoO5S=[a=-8,B=-7,y=2,0=10,e=12]
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PiecewiseFunction for No.9862

5 _ e -4 ; x< -2
NoOIz[x o } No02=| x-—2 ; 2<=x<=3
2x-3 ; x> -1
-2x-5 ; x> 3

NoO3=[a=-4,b=-2,c=-1,d=1,e=2]
NoO4=[a=-3,b=-2,c=-1,d=2,e=3]
No05=[a=-10,=-9,y=-3,0=10,e=11]
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PiecewiseFunction for No.10278

2x-3 ; x<3 S x<=2
N001=[x o } No02=| 3—x ; -2<x<3
l-x ; x>=3
2x+1 x> 3
NoO3=[a=-4,b=0,c=1,d=2,e=4]
NoO4=[a=-3,b=-2,c=1,d=2,e=4]
NoO5S=[a=-12,B=-8,y=-4,5=8,£=10]
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PiecewiseFunction for No.10361

oid < 2x+1 ; x <=-]
NoOlz[ o o }  No02=| x+2 ; -1 <x<=1
x—1 sox> 2
3 K x> [
NoO3=[a=-3,b=-2,c=1,d=2,e=4]
NoO4=[a=-2,b=-1,c=1,d=2,e=4]
NoO5=[o=-12,p=-9,y=1,8=3,£=9]
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PiecewiseFunction for No.10532

4 . - 2x-5 x< -1
NoOI:[x oY } No02=| 2+ -1 <x<=1
-2x-4 ; x> -2
-1-x x> 1

NoO3=[a=-4,b=-3,c=-1,d=2,e=4]
NoO4=[a=-3,b=-1,c=1,d=2,e=3]
NoO5=[a=-12,=-8,y=-7,0=-6,e=10]
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PiecewiseFunction for No.10688

2 - : < 3 2 ; x< -1
NOO]:[ " }, ,No02=|2x+4 ,; -1<=x<1
2x-5 ; x>=3
-x-2 x> ]

NoO3=[a=-4,b=-2,c=-1,d=2,e=4]
NoO4=[a=-3,b=-1,¢=0,d=2,e=3]
NoOS=[a=-5,0=-3,y=3,0=5,e=9]
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PiecewiseFunction for No.10868

I < ] 2x-1 ; x< -3
NoO]z[ . o } _No02=| 5 L3 <x<=2
x+5 ;ox>=1
-3+x x> 2

NoO3=[a=-4,b=-3,c=-2,d=-1,e=1]
NoO4=[a=-3,b=-2,c=-1,d=1,e=2]
NoO5S=[a=-12,=-3,y=3,0=7,e=12]
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PiecewiseFunction for No.10900

2x=-2 x< -3
}, ,NoO2=| x+4 , -3<=x<3
1 K x>=3
NoO3=[a=-3,b=0,c=1,d=2,e=4]
NoO4=[a=-2,b=-1,¢=0,d=2,e=3]
NoOS=[a=-11,=-5,y=-3,0=2,e=12]
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PiecewiseFunction for No.11693

B —4-x x< -3
NoO]:[ o o }  No02=| 3 ; 3<=x<=1]
+3 ;ox> -2
2x+1 x> 1
NoO3=[a=-4,b=-3,c=-2,d=0,e=1]
NoO4=[a=-4,b=-1,c=1,d=2,e=3]
NoOS=[a=-7,=-5,y=-2,0=8,£=9]
2
('\
\f'\
10 -8 6 4 D U Vi 4 ¢ 8

40
=y

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXKXXXXKKKXKXXXXKKXXXXKXKXXXKKKKXXKK



):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6500501-00022XX
PiecewiseFunction for No.12097

Y y_a < 3 -5-x x< -3
N001=[ o oo }  No02=|2x+3 ; -3<=x<3
—x-3 ; x>= -3
9 K x>=3
NoO3=[a=-3,b=0,c=1,d=2,e=3]
NoO4=[a=-2,b=-1,c=0,d=2,e=4]
NoOS=[a=-7,=-5,y=-4,0=2,e=3]
2 q‘///
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PiecewiseFunction for No.12172

D e 2x+3 x< -2
N001=[ . oY }  No02=| —3+x ; -2<x<=3
x+2 sox>
0 K x> 3

NoO3=[a=-4,b=-1,c=0,d=1,e=3]
NoO4=[a=-4,b=-3,c=-1,d=0,e=1]
NoOS=[a=-11,=-9,y=-3,0=2,e=11]
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PiecewiseFunction for No.12173

1 _ =) 2x+1 x < -1
NoOI:[ oA } No02=| 2-x ; -I<=x<3
2x+3 ; x> 2
-1 ; x>=3
NoO3=[a=-2,b=-1,c=1,d=2,e=3]
NoO4=[a=-3,b=-1,c=0,d=1,e=4]
NoO5=[o=-11,B=-9,y=-8,8=-3,£=3]
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PiecewiseFunction for No.12180

Y yid < 3 x+1 K x< -3
NoOI:[ . oY } No02=| 2 ; 3<=x<=2
-x-3 ; x> -3
2x+1 x> 2

NoO3=[a=-2,b=0,c=1,d=3,e=4]
NoO4=[a=-3,b=-1,¢=0,d=1,e=3]
NoO5=[a=-12,B=-11,y=-7,0=-3,e=3]
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PiecewiseFunction for No.12256

4 . —— 5 ; x< -1
N001=[ ool }  No02=| —x+4 ; -I<=x<=3
2x-3 ; x> 1
2x+5 x> 3

NoO3=[a=-4,b=-2,c=0,d=1,e=2]
NoO4=[a=-1,b=1,c=2,d=3,e=4]
NoO5S=[a=-12,=-6,y=7,0=8,e=11]
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PiecewiseFunction for No.12278

2 y_a - < 2x+2 x< -3
No()]:[x o } No02=| 8 S 3<=x< 3
5-x ; x> 1
x+4 K x>=3
NoO3=[a=-4,b=-3,c=-1,d=1,e=2]
NoO4=[a=-3,b=-1,c=0,d=1,e=2]
NoO5=[o=-11,B=3,y=7,5=8,£=9]
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PiecewiseFunction for No.12482

- ' ) -1 ;o x<=-2
N001=[ oA }  No02=| x+1 ; -2<x<3
2x+3 ; x> -2
2x+2 x> 3
NoO3=[a=-3,b=0,c=1,d=3,e=4]
NoO4=[a=-3,b=-2,c=-1,d=1,e=2]
NoO5=[o=-10,B=-8,y=-3,8=1,e=12]
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PiecewiseFunction for No.12586

2x+1 ; x<=3 Soxs x=dd

NoOlz[ . oY } No02=|2x-2 ; -I<=x<1
-x+4 ; x> 3

0 K x>=1

NoO3=[a=-4,b=-3,c=-2,d=2,e=4]
NoO4=[a=-3,b=-1,c=0,d=1,e=4]
NoOS=[a=-12,=-3,y=2,0=3,e=5]
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PiecewiseFunction for No.12677

_5_ _ < ] 2x+2 x< -2
NoO]:[ oA }  No02=| —x—-2 ; -2 <x<=1I
2x+1 ; x>=1
-3 K x> 1
NoO3=[a=-4,b=-2,c=-1,d=0,e=4]
NoO4=[a=-3,b=-1,c=1,d=3,e=4]
NoO5=[a=-10,=-8,y=-7,0=-4,e=11]
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PiecewiseFunction for No.13490

o3 < ] —x-2 x<=-3
NoOI:[ * o } No02=|2x-5 ; -3 <x<2
3+x ; x>=1
-1 ; x>=2
NoO3=[a=-4,b=-3,c=-2,d=1,e=4]
NoO4=[a=-2,b=-1,¢=0,d=2,e=3]
NoOS=[a=-12,B=-9,y=-7,8=-6,=1]
8
6
£
10 -8 -6 4 y 0 2 4 ¢ 8
'
.y

X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKKXKXXXKKKXXXXKXKXXXKKKXKXKXKK




):0:0.9:9:9.9.9,9:9.0.9.9.9.9.9,9:0.:0.9.9.9.9,9.9:0.0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXM6/1-6500501-00032XX
PiecewiseFunction for No.13500

4 . - -2x-5 x< -1
NoO]:[x o }  No02=| x—4 ; -I<=x<1
2x-2 ; x> -2
-3 K x> [
NoO3=[a=-3,b=-2,c=-1,d=0,e=1]
NoO4=[a=-3,b=0,c=2,d=3,e=4]
NoO5=[o.=-10,B=-8,y=-5,8=-3,£=3]
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PiecewiseFunction for No.13637

x5 - x<=7] -9 ; x< -2
NoO]:[ . oY } No02=|2x-5 ; -2 <x<=2
x+2 sox> 1
5-x x> 2

NoO3=[a=-3,b=-1,c=2,d=3,e=4]
NoO4=[a=-1,b=0,c=1,d=2,e=4]
NoOS=[a=-12,=-4,y=1,0=5,e=12]
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PiecewiseFunction for No.14015

v ‘ =3 -3 K x< -2

NoOIz[x o } No02=|2x+1 ; -2 <x<3
2x+5 ; x> -3

2—-x x>=3

NoO3=[a=-3,b=-1,c=0,d=3,e=4]
NoO4=[a=-4,b=-3,c=-1,d=1,e=4]
NoOS=[a=-11,=-8,y=-6,0=-3,e=5]
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